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And if you wish I can say; this and that are from the outside

OVERVIEW

The X713 reconciles the 71wn which requires a 2y n°2 for a 7xn, with the episode
which indicates that it is not desirable, in the following manner. 1. If the 9yw n"2 is
inside the 7¥77 it is undesirable; outside the 7% it is desirable. 2. Alternately even if
it 1s outside the 9¥n, nevertheless if it has a door it 1s undesirable; no door - it is
desirable. 3. And even with a door nevertheless without a lock (nrin19) — desirable;
with a lock it is undesirable. 4. In addition even if it is [outside the 1] with a door
and a lock, but if it can be opened from the outside it is desirable, from the inside —
undesirable. md01n explains why other options are not offered.
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And our text do not read, ‘[>X1a» X X77] both cases are where the 7Ww n°2 is
inside the 7xn’ for if the 7ww n°2 is inside the 7¥n, it is not possible to

differentiate whether the 2v¥ n°2 has a door or whether it does not have a door;
in both cases it would not be desirable since the 2vw n°2 is in the 277 -
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And if the °yw n°2 is XM we could also not differentiate whether the 2y n°2 has

a nnmp or whether it does not have a nnni -
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For in any event (with or without a n97 or nnMv), having a *XNa W n°2 is bad,

since the poor man cannot come only up to the door of the 931, and the “ww 2
does not let his screams to be heard inside the 2xm.

mooIN rejects an alternate explanation which would allow us to be X131 X &7 07
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And we cannot explain that which the X2 differentiates, that this case where it
is undesirable is in a situation where it has a door, etc., it is referring to the door

of the 921 and not to the door of the "yw n°2; this would seemingly remove M0N0 misgivings.
However n1901n negates this interpretation -

" nnms is a lock.

% The =¥n77 1o has a door (as the 7w states 7% 19T 131 MI2% MK 191 [see later this n1voIN]), thus preventing the
*1v from being heard in the 71X (see *X1an 7"7 "W).

? The 7ww N is *Xnn, however if there is no N7 on the %A ANd (not the 7yw n"2) then there is no problem. For the
"1y can approach the “vw n»a directly. However when the 7% has a n?7 then a >R 73w n°2 is undesirable.
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For the mwn states explicitly that we force each member of the 7x1 to build a

door for the 927, therefore presumably every 221 has a n77, so we cannot say that one case is
where the 231 has no n%7. We must conclude that the differentiation of whether it has a n97 or not
is referring to the 7yw N2 and not to the 7xm.

Mmoo anticipates a difficulty:
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And according to our o9 of S8923%» XM X7 there is a slight difficulty, for this
answer of *X12n X7 X7 1s not like the other answers where the X7n) mentions

(that both cases are discussing) the negative side and nevertheless it can be reconciled;

for instance the X713 states -
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Both cases are where there is a door (which is a negative factor), or both cases
are where there is a nnID (which is also a negative factor) -
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However, here the X713 mentions the positive factor (that the " n»a is outside).

SUMMARY
A R ww 02 is never desirable. Every 131 has a n27. The flow of the answers is
not symmetrical (first assuming the desirable option and later the undesirable).

THINKING IT OVER

mooin is disturbed that the answer of X728n XM X7 does not follow the syntax of
the last two answers. However moon stated that it is impossible to state
otherwise! Why therefore is it troublesome?!’

* See ‘Overview’. In answers 3 and 4 we assume the undesirable status of the previous answer and nevertheless we
can still reconcile the two cases. For instance in answer 2 (where the 7vw n°2 was outside the %), the undesirable
case was where the 7yw n°2 had a door. In answer 3 we say that even if we assume the undesirable state of a door,
nevertheless we can still reconcile by saying it is desirable if there is no lock. Similarly in answer 4 we state that
even if there is a lock (the undesirable case of answer 3), nevertheless there is a desirable situation if the lock can be
opened from the outside. In both answers (3&4) we assumed the undesirable cases of 2&3. However in answer 2 ( &7
"R72K7 X7 we are assuming the desirable case of answer 1 (that it is *X712Xn), but we do not assume the undesirable
case of answer 1 (that it was *X1») as we do in answers 3&4.
> mooin does not attempt to resolve this 7wp nxp. See “Thinking it over’. [Perhaps Mmoo is alluding that it would be
better to interpret *X12KXn R "R X7 as the X"2w1 does, where "X is desirable and *X72X7 is undesirable. ]
® See footnote # 4&5.
7 See w"wn.
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